BJ050(M12,M16) Rk N:pi=E2 A0 1 = E dw))

RaNS IMAO

& TUTL TR D ISy MR A—H—
ICENBEB B AN BUET HFICTYY
O —2—DABEEEE IR AEN,

XK Jwva | RoYUa—
FC300 S45C
o Isuﬁi {UF NI
wht e | R g

frERDTL—h M1 67 AR &ALV N
=
©
= d
& (s TET M
J o 3
a | an
Q= —
A | 7’- gg A §7
o y |
U {4 —pAY2—
= o 2 N
= |
z A
2| o
D(j GOS
g R
(L10.02/300[ A X
L1 O[001/ 150 w
(T1)
— [l_0.04 [8l
r AER \ | ‘
i T P )
| i
| \F++++i+++++
} e i e e
} ?5 ot F e+ o+
} T S +++++++++++
} @ SR
j N I
5 = +++++$+++++
5 € .
— =TT 1
16
© 4/ o
— 3-M16%x2 v_‘
[Z10.01/11150]
e .2 M‘

£ - #18H TEL.0575-28-4811 TEL.0575-32-2239 97t D-KL-I3D



o IS d L1
BB ok |En| B W W W T T L g 2| P
BJ050-4101-12 12
BJ050-4101-16 []400 16 450 | 470 | 393 | 386 | 45 “ 265 | 175 | 200 | 160
BJ050-5101-12 12
BJ050-5101-16 [ 500 16 550 | 580 | 493 | 486 | 50 315 | 225 | 250 | 200
BJ050-6101-12 12
BJ050-6101-16 (1630 16 700 | 760 | 623 | 616 | 55 “ 380 | 265 | 315 | 250
BJ050-8101-12 12
BJ050-8101-16 [ ]800 16 800 | 900 | 793 | 786 | 60 465 | 350 | 400 | 320
; gE
A & P4 P2 Hi He M BERH | RERE (kg)
BJ050-4101-12 | 55 125 | 15 | M12X1.75 63 4 95
BJ050-4101-16 165 | 18 | M16x2 94
BJ050-5101-12 125 | 15 | M12x1.75 157
BJ050-5101-16 100 7 165 | 18 | M16X2 % 154
BJ050-6101-12 125 | 15 | M12X1.75 303
— 1 12 1
BJ050-6101-16 5 00 165 | 18 | M16x2 180 8 298
BJ050-8101-12 125 | 15 | M12x1.75 457
BJ050-8101-16 160 | 135 165 | 18 | M16X2 2%8 450
. METOT72a> 757 (P. 2018 S8) - HERER  ARRIZEHERTT,
s TARILL--- 218 MR II A ETHBVAD BN,

- EEREYF 50mm+0.02
- REANTRL ZREEHEL)

£ - #18A TEL.0575-28-4811 TEL.0575-32-2239 97 D-KL-I3D



